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Beam Energy : 0.5 MeV, Pulse Width : 3 mm
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Beam Energy : 0.5 MeV, Pulse Width : 3 mm
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Beam Energy : 6.0 MeV, Pulse Width : 3 mm
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Beam Energy : 6.0 MeV, Pulse Width : 3 mm
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Beam Energy : 1.0 MeV

0 0.2 0.4 0.6 0.8

0 0.2 0.4 0.6

Longitudinal Traveling Length (m)

09 boboboooooo1




Emittance (xmm-mrad)

Emittance (xmm-mrad)

Beam Energy : 3.0 MeV

o ! !
H (Parmela)
— IJJZ'K[‘#JJ\ """"" """""""""""""" """""""""""" . """"""""" T

[J_IQIKE/:‘E\ (GPT) ..................

0 0.2 0.4 0.6 0.8
Longitudinal Traveling Length (m)

Beam Energy : 6.0 MeV

2
o ——

1.8 I B (Parmela) e _—_—_, L
1.6 [J-l*[%j)\ """"" : |
: ”—IQIKEI/:\E\(GPT) ..................
14 i :
1.2

T A SR
0.8
0.6 [/
0.2 ff e

o L | I I |

Longitudinal Traveling Length (m)

010 OO0O0Oooooo 2




